IP65 Die-Cast Aluminum Enclosures

)
With Mounting Flange multlcomp

Product Information:

* Material : Aluminium Alloy.
* Finish  : Natural Aluminium, Grey and Black colour.
» Designed to meet IP65 through the use of EPDM gasket with the universal tongue and groove seal system.

» Wall mounting holes and lid fixing screws are outside the sealing area for real sealing protection.
* Mounting Flange is designed on the bottom of the base, so the base can be mounted with M5 pan head machine screws

on the wall easily.

Diagrams:
Part Number : MC001078 / MC001083 / MC001088

15537nn [617in = 12450 [4502in 15nn [0.591in ]
12450 __[402in <|€ 11360nm__ [4.472in 122‘55%”” %8325‘" %
“"‘foi”” j‘i’?;‘” =2 11250nm (44290 hn [LTon
— nmn 3 n —I—
< 98.58nn__ [388li
<| £ 10242m  [4021in Ele mn_[388lin
23 |l | ° E
=7 T T [
FE - B e ﬁ = = ] 771
& a J 23} Slc N N | ||
1l g|& 2 D) g e
& = 5 S |
AT 7 o= | &S < Qe 5IRI2
&%) A ~
Dy &y s > 5[0,
1645: = EIE EE QRSF‘
e Sh = &S 9 E|E|E
® (gﬁ e R|R *I @ C1gR ;
3|2
—~@ (P &) Vé
\ TP
FOUR (4) M4X2S5 e 1140 [0.449in]

FLAT HEAD SCREW.
14137mm _ [5.566in ]
11250nm  [4.429n ]

| =
+ s|&
Bl =
e
ot RS |
£l £
5| S
el e 2| B
4+, £l £ &[0
SlElgle N %% — |
<[\ |y
5|8 . =
2IRIEIS 1@ j
BINEIE } c
® £l £
HE
2
g

6mn
2.50mm

25mn
omn

SECTION _A-A
SCALE 2: 3 ASSEMBLY

www.element14.com

www.farnell.com @
multicomp

www.newark.com

Page <1> 09/05/16 V1.0



IP65 Die-Cast Aluminum Enclosures

With Mounting Flange

mult?comp

Part Number : MC001079 / MC001084 / MC001089

15597 [6.140i
12450:: 4902‘\’; <l 12450 [4.902in ]
6.92mm  [4.603in ={hA 1360nm  [44720 ) 15m [0591in ]
— 106mm 4173In | EE 112.50mn 4429 | 1250mm  [0.492in ]
$ 10212mm_ [4021n | - 98.58mm__ [3:881in | 250nn_ [0.098in ]
2. & 5
gk N b
” R H ]
® SE = EE ]
S| N
& Tl | &2 5188
login ) S35 I
£l £
= N E|E|E -
I @ Q| (&j 8|23
3|2
&
R
FOUR(4) M4X25Smm ‘
14197nn [5.589in ] FLAT HEAD SCREWS
e.50nn 44290 |
-@
+ O
+ sl = ——
e
RS N
3| & 53
| el<] < 1 a4
S + e =
] ] =3 B =3 [=+) el £
Rl RS R 6 (<) 3 VDE’ v'\f
B 3
& 5|E| & : o
S| |e
G
i
‘ ﬂm L
SECTION A=A
SCALE 21 3 ASSEMBLY
Part Number : MC001080 / MC001085 / MC001090
15950mm  [6.280in ]
100w 756 =] 147.70m__[5815in | 20w [0.787in ]
e e 515 146m (5748 98003860 |
Si75n__ {39790 a2 129.70mn__[5406in | 3 [0118n ]
—— 140mm__ [5.502in ] == 5
£ [~ wrm [asen] | cle =
g e 7
=5 g g g il
HIE - 4 &g\o (& e .
| & g g 82|15
%, j SE SR g &k i
£ E|£ EIENES ;7
g AN
—

11.30nm  [0.4450n ]
—

FOUR (4) M4X30 mm
17690mm  [6.964in ] FLAT HEAD SCREWS

146nn__ [5.748In |

[2.362in ]
[3.386in |

60mm
86mm

[1575in ]
[0.236in ]
[0.098n ]
[0079in ]

40nn
6mm
.30mn
2mnn

S5mn

[2165in ]
[2362in ]

60mm

Iﬁ” ASSEMBLY

SECTION _ A-A
SCALE 2+ 3

SECTION B-B
SCALE 2:3

www.element14.com
www.farnell.com
www.newark.com

Page <2>

mult?comp

09/05/16 V1.0



IP65 Die-Cast Aluminum Enclosures

With Mounting Flange

mult?comp

Part Number :

MC001081 / MC001086 / MC001091

19163nn__ [7.544in —r 159.50mm _ [6.280in ]
15950nm __ [6.280in NS 147.70nm__[S.815in |
15175nm__[5975in 2|2 146nn_[5.748in | 20mm_ [0.787in
——y 140mm_ [5.512in 1 129.70nm__ [5.106in ] 980nm__ [0386in
é § l[ 13375 [5.266in ] 11 HE —35 3nn_ [0.418In ]
3| & S|
212 T T EZZ
el e bt | . L]
SERE e 4 ~ " M
& =|&|& £ clsls
2 =3 e 5 E 5
I, afes) o5 = %
Xy, = T =) ) H
T U, ol P 1g| 2| £ HHIE
v EiN ] . ENL 320 [0 3I=| 3 =
NS P& & L126in ] o= | g f’
@ 1o
8 2 @ [ ﬁ
\L@ @ AS
177.63nn__[6.993n ] 130 [0445in L SECTIN, BB
146rm_ [5.748in ] FOUR (4) M4X30 mn
1 FLAT HEAD SCREWS
-@
¥
+ EH
bel b
+ i)
£
5 + | &5
<
g K D
< 4. @
&
& -©
] I
x JE o 2
SECTION A-A —
SCAE 23 ASSEMBLY Sls
&=
Sy
£
Part Number : MC001082 / MC001087 / MC001092
231.92nm  [9.3lin 200mm  [7.874in ]
200mm  [7.874in 189.80mm  [7.472in]
194nm__ [7.638in 188mm _ [7.402in ] 20 [07871n ]
176nm  [6.929in 171.80nm  [6.764in | 180rn  [0070n |
138nm__ [5.433n J22nm _ [0866in B
BT T2 <o 1 ]
® 55| ¥ B —]
y; y; b £lclg|.e
s == Sl5|5|$ SER|E
', NP AL Y 2T
2 £l g Vow Kt ol B Rolad b
7 HIE \S= P
£ elelele
& [ @ e =~ & —
¢ ~avd
SECTION B-B
OUR (4) M4X32 mn SCAE L2
217.92nn _ [8580in ] FLAT HEAD SCREWS
188mm  [7.402in ]
|
&
+ ++ 4
<
i
+ S
o + | &
<|lslgls -
87|28 + 450
RUSIEIES @
HEHE -
wi=|n clg
&S|
3|8
Kty
£ £
M M [ ginl M 7 SR
=
X%EX&EN . AEA ASSEMBLY
'

www.element14.com
www.farnell.com
www.newark.com

Page <3>

mult?comp

09/05/16 V1.0



IP65 Die-Cast Aluminum Enclosures (1p)
With Mounting Flange multlcomp

Part Number Table

Description Colour Externa(lnl1)ri1n)1ension Part Number

125 x 80 x 40 MC001078

125 x 80 x 57 MC001079

Natural 160 x 100 x 60 MC001080

160 x 100 x 81 MC001081

200 x 120 x 75 MC001082

125 x 80 x 40 MC001083

125 x 80 x 57 MC001084

Die-Cast Enclosure with Flange Grey 160 x 100 x 60 MCO001085
160 x 100 x 81 MC001086

200 x 120 x 75 MC001087

125 x 80 x 40 MC001088

125 x 80 x 57 MC001089

Black 160 x 100 x 60 MC001090

160 x 100 x 81 MC001091

200 x 120 x 75 MC001092

Important Notice : This data sheet and its contents (the “Information”) belong to the members of the Premier Farnell group of companies (the “Group”) or are licensed to it. No licence is granted
for the use of it other than for information purposes in connection with the products to which it relates. No licence of any intellectual property rights is granted. The Information is subject to change
without notice and replaces all data sheets previously supplied. The Information supplied is believed to be accurate but the Group assumes no responsibility for its accuracy or completeness, any
error in or omission from it or for any use made of it. Users of this data sheet should check for themselves the Information and the suitability of the products for their purpose and not make any
assumptions based on information included or omitted. Liability for loss or damage resulting from any reliance on the Information or use of it (including liability resulting from negligence or where the
Group was aware of the possibility of such loss or damage arising) is excluded. This will not operate to limit or restrict the Group’s liability for death or personal injury resulting from its negligence.
Multicomp is the registered trademark of the Group. © Premier Farnell plc 2012.

www.element14.com @
f Il.
multicomp

Page <4> 09/05/16 V1.0



